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1. Which of the following geographical term related with the "piece of sub-continental land that is
surrounded by water"?

A. Peninsula
B. Gulf

C. Strait

D. Island

Ans: D
2. Which of the following geographical term related with a body of land surrounded by water on

three sides?

A. Peninsula
B. Gulf

C. Strait

D. Island

Ans: A

3. Which of the following geographical term related with a naturally formed, narrow, typically
navigable waterway that connects two larger bodies of water?

A. Peninsula

B. Gulf

C. Strait

D. Island

Ans: C

4. Which of the following is suitable definition of ‘Archipelago’?
A. A circular coral reef that encloses a shallow lagoon.

B. A chain or set of islands grouped together.

C. The plant and animal life on the earth.

D. None of the above

Ans: B

5. Which of the following is the largest Archipelago in the world?
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A. Andaman & Nicobar Island
B. Malaysia
C. Indonesia
D. Maldives

Ans: C

6. Which of the following is the world’s largest peninsula?
A. India
B. South Africa

C. Arabia
D.Both A & B

Ans: C

7. Which of the following passes cuts through the Pir Panjal range and links Manali and Leh by
road?

A. Rohtas Pass

B. Mana Pass

C. Niti Pass

D. Nathula Pass
Ans: A

8. Which of the following pass has been created by the Indus River?
A. Rohtas Pass

B. Nathula Pass

C. Baralachala Pass
D. Banihal Pass
Ans: D

9. Which passes make way to the land route between Kailash and the Manasarovar?

A. Mana Pass
B. Rohtas Pass
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C. Nathula Pass
D. Baralachala Pass

Ans: A

10. Which of the following pass link the Srinagar to Leh?

A. Mana Pass

B. Rohtas Pass

C. Nathula Pass

D. Zoji La Pass

Ans: D

11. Consider the following statement (s) related to Human resources.

I. The environmental factors such as high altitude, extreme cold, aridity, relief, climate, soil,
vegetation types, mineral, and energy resources influences the population distribution
Il. Technological and economic advancements influences the population distribution
Which is / are correct option?

Code:

A. Only |

B. Only I

C.Both land Il

D. Neither | nor Il

Ans: C

12. Consider the following statement (s) related to population growth.

I. The natural increase in the population plus any net gain from migration.
II. The number of people per sq. Km

Which is / are correct option?
Code:

A. Only |
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B. Only I

C.Both land lI

D. Neither | nor Il

Ans: A

13. Consider the following statement (s) related to composition of population.

I. The population is usually divided into three age groups- children (0-14yrs), adults (15-59yrs)
and aged (60 and over).

Il. Population of males and females, children, young and old comprises the population of a
country.

Which is / are correct option?

Code:

A. Only |

B. Only I

C.Both land Il

D. Neither | nor Il

Ans: C

14. Consider the following statement (s) related to development.

I. The combination of qualitative and quantitative process of growing or causing something to
grow or become larger or more advanced.

II. Development occurs when there is a positive change in quality.

Which is / are correct option?

Code:

A.Only |

B. Only I
C.Bothland Il
D. Neither | nor Il

Ans: C
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15. Consider the following statement (s) related to pillars of human development.
I. Equity means making equal access to opportunities available to everybody that opportunities
available to people must be equal irrespective of their gender, race, income and in the Indian
case, caste.

II. Sustainability to the human labour productivity or productivity in terms of human work that
must be constantly enriched by building capabilities in people.

Which is / are correct option?
Code:

A. Only |

B. Only I

C.Both land

D. Neither | nor Il

Ans: A

16. Consider the following statement (s) related to Human Settlement.

I. Defined as a place of non- inhabited more or less permanently.
II. A form of human habitation which ranges from a single dowelling to large city.

Which is / are correct option?

Code:

A. Only |

B. Only I

C.Both land I

D. Neither | nor Il

Ans: B

17. Consider the following statement (s) related to Rural Urban Settlement Dichotomy.

I. The term settlement is accepted but when it comes to its existence that can be differentiated

in terms of rural and urban, but there is no consensus on what exactly defines a village or a
town.
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Il. The basic difference between towns and villages is that in towns the main occupation of the

people is related to secondary and tertiary sectors, while in the villages most of the people are
engaged in primary occupations.

Which is / are correct option?

Code:

A. Only |

B. Only I

C.Bothland Il

D. Neither | nor Il

Ans: C

18. Consider the following statement (s) related to Rural Urban Settlement Dichotomy.

I. The proportion of children is quite low in the first world countries like Sweden whereas in
countries like Japan, the proportion of old people is high.

Il. Human resources are often referred to the population.

Which is / are correct option?

Code:

A. Only |

B. Only I

C. Both I and Il

D. Neither | nor Il

Ans: D

19. Consider the following statement (s) related to Settlements.

I. Settlements are classified on the basis of their shape and patterns types.

Il. Patterns of rural settlements contemplate the way the houses are sited in relation to each
other.

Which is / are correct option?

Code:
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A.Only |

B. Only I
C.Bothland Il
D. Neither | nor Il

Ans: C

20. Consider the following statement (s) related to rural settlements.

I. On the basis of setting: The main types are plain villages, plateau villages, coastal villages,
forest villages and desert villages.

II. On the basis of functions: There may be farming villages, fishermen’s villages, lumberjack
villages, pastoral villages etc.

Which is / are correct option?

Code:

A. Only |

B. Only I

C.Both land Il

D. Neither | nor Il

Ans: C

21. Which of the following crop is not part of High - Yielding Varieties Programme?

A. Rice

B. Wheat

C. Jowar

D. Pulses

Ans: D

22. What were the main reasons for deceleration in the growth of agriculture in post - reform

period?

A. Momentous deceleration in public & general investment in agriculture
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B. Dwindling farm size

C. Failure to develop new technologies

D. All of the above

Ans: D

23. Consider the statement (s) related to the green revolution.

I. Increasing agricultural production by incorporating modern tools and techniques.

II. New high - yielding varieties of wheat were developed by Prof. Norman Borlaug & were
adopted by a number of countries.

Which of the following is/are correct statement (s) ?
A. Only |

B. Only I

C.Both land Il

D. Neither | nor Il

Ans: C

24. Which of the following was included as part of the land reforms initiated in India?
A. Abolition of intermediaries

B. Tenancy reforms

C. Reorganization of agriculture

D. All the above

Ans: D

25. Consider the statement (s) related to the green revolution.

I. Excess land was acquired by the government and redistributed among the landless.
Il. Ceiling laws were passed in all the states during the 1st FYP period.

Which of the following is/are correct statement (s)?
A. Only |

B. Only Il
C. Both l and Il

https://www.freshersnow.com/previous-year-question-papers/


https://www.freshersnow.com/

DHT Assam Geography Questions and Answers

FRESHERS NOW
D. Neither | nor Il

Ans: A

26. Which of the following was not a measure under the tenancy reforms?
A. Regulation of rent

B. Security of tenure

C. Ownership rights to tenants

D. None of the above

Ans: D

27. Which of the following states has the highest irrigation coverage?
A. Punjab

B. Karnataka

C. Uttar Pradesh

D. Uttarakhand

Ans: A

28. |dentify the right order of highest to lowest irrigation coverage.

A. Punjab, Uttar Pradesh, Haryana, Bihar

B. Punjab, Haryana, Uttar Pradesh, Bihar

C. Haryana, Punjab, Uttar Pradesh, Bihar

D. Haryana, Uttar Pradesh, Punjab, Bihar

Ans: B

29. Which of the following was a part of the green revolution strategy?
A. High yielding variety seeds

B. Chemical fertilizers and pesticides

C. Irrigation

D. All the above

Ans: D

30. Consider the statement (s) related to the green revolution.
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I. Green revolution ensured that there was no regional disparity
Il. There was increase in production of all the food grains and commercial crops.

Which of the following is/are correct statement (s)?
A.Only |

B. Only I

C. Both I and Il

D. Neither | nor Il

Ans: D
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